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Chapter 4  Problem19

Show that, in order to conserve flux , the amplitude of a cylindrical wave must vary inversely with 
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A complex waveform represents a cylindrical wave in which the wavefronts are outward-moving cylindrical surface surrounding a line of symmetry. Such a wave takes the form
Ψ=
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Here, ρ represents the perpendicular distance from the line of symmetry to a point on the waveform. If the Z-axis is the line of symmetry, then ρ=
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. The amplitude of a cylindrical wave must vary inversely with 
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